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B 16S: between replicate variation

Weighted Unifrac distance
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10e-1 Dilution 10e-2 Dilution 10e-3 Dilution 10e-4 Dilution
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ITS: between replicate variation
10e-1 Dilution 10e-2 Dilution 10e-3 Dilution 10e-4 Dilution
0.6 P-value = 9.8e-36 P-value = 1.1e-96 P-value = 8.7e-27 P-value = 1.1e-38
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0.6 1 P-value = 5.5e-30 P-value = 3.2e-08 P-value = 3.2e-41 P-value = 5e-51
R?=0.05 R?=0.012 R?=0.066 R?=0.095
| |
0.4 I + | .
. | ®
'/I Lo & ¥ !
024" : —H !
é ' \
= ' ; | »
: : | i | X
0.0- [ ] [ |
0 3 6 9 0 3 6 9 0 3 6 9 0 3 6 9

WeekslIncubated

pinbi pajeinoou

10S pajejnoou|

pinbr pajenoou

ll0S pajenoou|



